Solutions – Kepler telescope 

Task 3 
 
The Kepler telescope is made up of two lenses: an object lens and an eyepiece.  
The object lens projects a magnified real image of an object some distance away. This image is viewed magnified using the eyepiece (a magnifying glass). 
 
Task 4 

A non-magnified object fits about 2.5 times in the magnified object. This means the estimated magnification is 2.5. 
 
Task 5 

The calculated magnification of the Kepler telescope is 

Magnification = 10.3 cm / 4.0 cm ≈ 2.6 

Task 7 

A non-magnified object fits about 4.5 times in the magnified object. This means the estimated magnification is 4.5. 
 
Task 8 

Rearranging the equation results in 

Focal length eyepiece = Focal length object lens / Magnification = 10.3 cm / 4.5 ≈ 2.3 cm 
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